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So Dividend = 45.20;  Divisor = 1.2 or 45.20 ÷ 1.2. 
 
EXERCISE 3.1 
 
1.  

 
 

2.  

 
 

3.  

 
 

4.  

 

 

  

Free Hand

Free Hand
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5.  

 
 

6.  
(a)  

. 
(b)  

 
(c)  

 
(d)  

 
(e)  

 
(f)  

 
(g)  
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(h)  

 
(i)  

 
(j)  

 
7.  

(a)  

 
(b)  

 
(c)  

 
(d)  

10
20

 = 0.5 
      0.5 
20)100 
      100 
       0 
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(e)  

 
8.  

(a) 0.75 = 75
100

=  3
4
 

 
(b)  

3.25 =
325
100

=  
13
4

=  3
1
4

 

(c)  

 
(d)  

 
(e)  

 
 
 

EXERCISE 3.2 
 

1.  
(a) 5.2 + 3.9  
         5.2 
      +3.9 
        9.1 
 
(b) 7.45 + 8.07 = 15.52  

 
(c) 17.21 + 6.123  

17.210 + 6.123 = 23.333 
 
(d) 13.08 + 8.23 = 21.31 

 
(e) 105.23 + 451.028 

105.230 + 451.028 = 556.258  
 
(f) 4.12 + 4.03 + 3.78 = 11.93 
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(g) 36.13 + 123.34 + 0.062 

36.130 + 123.340 + 0.062 = 159.532 
2.  

(a) 17 – 3.18 = 17.00 – 3.18 
        17.00 
    –    3.18 
        13.82 
 

(b) 56.48 – 26.19 = 30.29 
(c) 12.421 – 9.210 = 3.211 
(d) 34.1– 1.02 – 2.13 

34.10 – 1.02 – 2.13 = 34.10 – 3.15 = 30.95 
(e) 100.129 – 99.123 = 1.006  
(f) 67.2 – 23.12 – 0.08  

67.20 – 23.12 – 0.08 = 67.20 – 23.20 = 44 
(g) 400.17 – 192.37 = 207.80 or 207.8 
 

3.  

 

 
4.  
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5.  

 

6. The average distance of Neptune from  sun is = 30.07 AU = 30.070 AU 
The average distance of Mars from sun is = 1.524 AU 
Neptune is farther from the Sun than Mars by =  
The average distance of Neptune from sun =     30.070 AU 
– The average distance of Mars from sun     = –  1.524 AU 
                 =       28.546 AU 
 

7. Height of an iceberg above sea level = 4.5 m = 4.500 m  
Part of the iceberg below the sea level = 0.875 m 
The total height of the iceberg =    4.500 m 
                      = + 0.875 m 
                  5.375 m 
 

EXERCISE – 3.3 
 

1.  

 
 
 
 
 
 

Free Hand


